@ Installation Sheet — 4 Post Rack Kit

cooL[=ETD
Kit Contents:
Rail Kit: Side Bracket Hardware Kit: Rear Bracket Hardware Kit: Rack Hardware Kit:
(2) Rail Assemblies (8) 10-32 Screws (2) 10-32 Screws (12) 10-32 Truss Head Screws

(4) Side Brackets (1) Rear Brackets (12) 12-24 Truss Head Screws
(12) 10-32 Cage Nuts
(12) 10-32 Nuts

(1) Rear Bracket (4) Side Brackets

1. Attach the (2) Front Side Brackets as shown below using (2) 10-32 Truss Head Screws. Align the Front Side Bracket Flush
to the front of the Rail Assembly.

2. Attach the (2) Rear Side Brackets as shown below using (2) 10-32 Truss Head Screws. Adjust the Rear Side Bracket
according to post depth (maximum of 30™).

3. Attach the Rear Bracket to the back of the Rail Assemblies.

Align Front Side
Bracket Flush to Front
of Rail Assembly

Rail Assemblies

Adjust Rear Side
Bracket According to
Post Depth (Max. 307)
#10-32 Truss Head Screws

Front Side Brackets

Rear Side Brackets

#10-32 Truss Head Screws

led MAXPOWER

06/05 CORPORATION
P/N: 5-TC600-5080 800-576-3966 Phone www.coolcubel0.com




@ Installation Sheet — 4 Post Rack Kit

coolL [

1. Attach the Shelf Assembly to the rack as shown below using the Rack Hardware Kit.

2. Place the CoolCube 10 onto the shelf. The CoolCube 10 must be installed through the rack’s side posts for power cord/strain
relief clearance. The CoolCube 10 shown below has a rack diffuser kit that is sold separately.

Rack Hardware Kit:
The Rack Hardware Kit provides various screws
and nuts for the four most common types of racks.

Square Hole Racks: Install (3) Cage Nuts on each
rack post in the top, middle, and bottom holes of
the 1U space. Attach with the (larger) 10-32
SCrews.

12-24 Threaded Racks: Attach with the (larger) 12-24
screws. Use (3) screws on each rack post.

10-32 Threaded Racks: Attach the (smaller) 10-32
Screws. Use (3) screws on each rack post.

Round Hole Racks (non-threaded): Attach the
(smaller) 10-32 Screws and the flange nuts. Use
(3) screws and (3) nuts on each rack post.

Attach Rear Bracket to
Rail Assemblies and to

CoolCube 10 \

CoolCube shown with
the Rack Diffuser Kit
(sold separately) to
direct cold air directly
above unit

NOTE:

Shelf can be installed on posts
from 24 — 30 inches deep.

CoolCube unit must be
installed through the rack’s
side posts for power
cord/strain relief clearance

Use (2) #5/16 Screws on
the rear of CoolCube 10 to
attach to the Rear Bracket

06/05 m

MAXPOWER

CORPORATION

P/N: 5-TC600-5080 800-576-3966 Phone www.coolcubel0.com




@ Installation Sheet — 2 Post Rack Kit

B (CENTER MOUNT)
Kit Contents:
Rail Kit: Side Bracket Hardware Kit: Rear Hardware Kit: Rack Hardware Kit:
(2) Rail Assemblies (8) 10-32 Screws (2) 10-32 Screws (12) 10-32 Truss Head Screws

(4) Side Brackets (1) Rear Brackets (12) 12-24 Truss Head Screws
(12) 10-32 Cage Nuts
(12) 10-32 Nuts

(2) Rail Assemblies

(1) Rear Bracket (4) Side Brackets

1. Attach the (2) Front Brackets as shown below using (2) 8-32 Flat Head Screws and (2) 8-32 Nuts from the Front Hardware
Kit bag.

2. Attach the (2) Rear Slide Brackets as shown below using (2) 8-32 Flat Head Screws and (2) Brass Shoulder Nuts from the
Rear Hardware Kit bag.

3. Attach the Rear Bracket to the back of the Rail Assemblies

Rail Assembly Back Side Brackets

#10-32 Truss Head Screws

led MAXPOWER

06/05 CORPORATION
P/N: 5-TC600-5080 800-576-3966 Phone www.coolcubel0.com




@ Installation Sheet — 2 Post Rack Kit
B (CENTER MOUNT)

1. Attach the Shelf Assembly to the rack as shown below using the Rack Hardware Kit.

2. Place the CoolCube 10 onto the shelf. The CoolCube 10 must be installed from rear to front on the rack for power cord/strain
relief clearance. The CoolCube 10 shown below has a rack diffuser kit that is sold separately.

Rack Hardware Kit: Attach Rear Bracket to
The Rack Hardware Kit provides various screws Rail Assemblies and to
and nuts for the four most common types of racks. | (3) screws Per Post CoolCube 10

Square Hole Racks: Install (3) Cage Nuts on each
rack post in the top, middle, and bottom holes of
the 1U space. Attach with the (larger) 10-32
SCrews.

12-24 Threaded Racks: Attach with the (larger) 12-24
screws. Use (3) screws on each rack post.

=

10-32 Threaded Racks: Attach the (smaller) 10-32
Screws. Use (3) screws on each rack post.

Round Hole Racks (non-threaded): Attach the
(smaller) 10-32 Screws and the flange nuts. Use

(3) screws and (3) nuts on each rack post.

IMPORTANT!

CoolCube shown CENTER MOUNT ONLY ON 2 POST RACKS
with the Rack

Diffuser Kit to

direct cold air
directly above unit N

Rear
CoolCube must be
installed from rear to
/ front on the rack for
power cord/strain
relief clearance

Rear

Use (2) #5/16 Screws on
the rear of CoolCube 10 to
attach to the Rear Bracket

= a

°
q o
J o o
g S
q o
J o
g S
q o
J — o
J o i "
° o - -
g [Eaal
: C s —1 f——

led MAXPOWER

06/05 CORPORATION
P/N: 5-TC600-5080 800-576-3966 Phone www.coolcubel0.com




	Installation Sheet – 4 Post Rack Kit
	Installation Sheet –  4 Post Rack Kit
	Installation Sheet – 2 Post Rack Kit   (CENTER MOUNT)
	Installation Sheet –  2 Post Rack Kit(CENTER MOUNT)

